
L1Steps1 DATEI-™FFNEN L1Undo1

L1Steps2 {BEARBEITEN-GEHEZU B2} L1Undo2
{SEI B2;"G„rtnerei Mller"}
{SEI <<tutmac.wk3>>Mark2;1}

L1Steps3 {SEI B5;12000} L1Undo3
{SEI C5;19000}
{SEI D5;16000}
{BEARBEITEN-GEHEZU D5}
{SEI <<tutmac.wk3>>Mark3;1}

L1Steps4 {BEARBEITEN-GEHEZU B16}L1Undo4
+b5-b14~
{SEI <<tutmac.wk3>>Mark4;1}

L1Steps5 {BEARBEITEN-GEHEZU B16..D16}L1Undo5
{BEARBEITEN-KOPIEREN-FšLLEN "RECHTS"}
{SEI <<tutmac.wk3>>Mark5;1}

L1Steps6 {BEARBEITEN-GEHEZU E5} L1Undo6
@SUMME(b5..d5)~
{SEI <<tutmac.wk3>>Mark6;1}

L1Steps7 {BEARBEITEN-GEHEZU E8..E12}L1Undo7
{BEARB-KOPIEREN A:E5}
{BEARB-EINFšGEN}
{SEI <<tutmac.wk3>>Mark7;1}

L1Undo8



DATEI-SCHLIESSEN

{AUSWŽHLEN B2}
{AUSWŽHLEN-ANHŽNGEN B5..E5}
{AUSWŽHLEN-ANHŽNGEN E8..E12}
{AUSWŽHLEN-ANHŽNGEN B16..D16}
{BEARB-L™SCHEN}
{BEARBEITEN-GEHEZU A1}
{SEI <<tutmac.wk3>>Mark2;0}

{L1Undo2}
{L1Steps2}
{SEI <<tutmac.wk3>>Mark3;0}

{L1Undo3}
{L1Steps3}
{SEI <<tutmac.wk3>>Mark4;0}

{L1Undo4}
{L1Steps4}
{SEI <<tutmac.wk3>>Mark5;0}

{L1Undo5}
{L1Steps5}
{SEI <<tutmac.wk3>>Mark6;0}

{L1Undo6}
{L1Steps6}
{SEI <<tutmac.wk3>>Mark7;0}

{WENN <<tutmac.wk3>>Mark7}{STOP}
{WENN <<tutmac.wk3>>Mark6}{L1Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark5}{L1Steps6}{L1Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark4}{L1Steps5}{L1Steps6}{L1Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark3}{L1Steps4}{L1Steps5}{L1Steps6}{L1Steps7}{STOP}



{WENN <<tutmac.wk3>>Mark2}{L1Steps3}{L1Steps4}{L1Steps5}{L1Steps6}{L1Steps7}{STOP}
{L1Steps2}{L1Steps3}{L1Steps4}{L1Steps5}{L1Steps6}{L1Steps7}{STOP}



{WENN <<tutmac.wk3>>Mark2}{L1Steps3}{L1Steps4}{L1Steps5}{L1Steps6}{L1Steps7}{STOP}



L2Steps1 {GEHEZU}A:B5~ L2Undo1
{ANKER}{END}{HOME}~
{BEREICH-FORMAT "W„hrung";2}
{SEI <<tutmac.wk3>>Mark1;1}

L2Steps2 {HOME} L2Undo2
{BEARB-AUSSCHNEID A:B1..A:B2}
{BEARB-EINFšGEN A:A1}
{GEHEZU}A:A1~
{ANKER}{U}~
{SEI <<tutmac.wk3>>Mark2;1}

L2Steps3 {GEHEZU}A:B14~ L2Undo3
{ANKER}{R 2}~
{BEREICHSNAME-ERSTELLEN Kostensumme}
{SEI <<tutmac.wk3>>Mark3;1}

L2Steps4 {GEHEZU}A:E14~ L2Undo4
@SUMME(Kostensumme)~
{SEI <<tutmac.wk3>>Mark4;1}

L2Undo5



{HOME}
{LEER A:E16}
{LEER A:E14}
{BEREICH-FORMAT-ZURšCKSETZEN A:B5..A:E16}
{SEI <<tutmac.wk3>>Mark1;0}

{L2Undo1}
{BEARB-AUSSCHNEID A:A1..A:A2}
{BEARB-EINFšGEN A:B1}
{L2Steps1}
{SEI <<tutmac.wk3>>Mark2;0}

{L2Undo2}
{BEREICHSNAME-L™SCHEN "Kostensumme"}
{L2Steps2}
{SEI <<tutmac.wk3>>Mark3;0}

{L2Undo3}
{L2Steps3}
{SEI <<tutmac.wk3>>Mark4;0}

{WENN <<tutmac.wk3>>Mark4}{STOP}
{WENN <<tutmac.wk3>>Mark3}{L2Steps4}{STOP}
{WENN <<tutmac.wk3>>Mark2}{L2Steps3}{L2Steps4}{STOP}
{WENN <<tutmac.wk3>>Mark1}{L2Steps2}{L2Steps3}{L2Steps4}{STOP}
{L2Steps1}{L2Steps2}{L2Steps3}{L2Steps4}{STOP}



L3Steps1 {BEARBEITEN-GEHEZU B3..E3} L3Undo1
{STIL-AUSRICHTEN-HORIZONTAL "RECHTS"}
{SEI <<tutmac.wk3>>Mark1;1}

L3Steps2 {BEARBEITEN-GEHEZU A1} L3Undo2
{STIL-SCHRIFT "Times New ROMAN";A:A1;"ROMAN"}
{STIL-SCHRIFT-ATTRIBUTE "FETT";"EIN";A:A1}
{SEI <<tutmac.wk3>>Mark2;1}

L3Steps3 {STIL-TEXT-FARBE 186} L3Undo3
{SEI <<tutmac.wk3>>Mark3;1}

L3Steps4 {BEARBEITEN-GEHEZU A5..A16} L3Undo4
{BEARB-KOPIEREN A1}
{BEARBEITEN-EINFšGEN-SELEKTIV ;"STILE"}
{SEI <<tutmac.wk3>>Mark4;1}

L3Steps5 {BEARBEITEN-GEHEZU A1} L3Undo5
{STIL-SCHRIFT-GR™SSE 14}
{SEI <<tutmac.wk3>>Mark5;1}

L3Undo6



{BEARBEITEN-GEHEZU B3..E3}
{STIL-AUSRICHTEN-HORIZONTAL "LINKS"}
{BEARBEITEN-L™SCHEN-STILE A1..A16}
{STIL-SCHRIFT-GR™SSE 10;A1..A16}
{BEARBEITEN-GEHEZU A1}
{SEI <<tutmac.wk3>>Mark1;0}

{L3Undo1}
{L3Steps1}
{SEI <<tutmac.wk3>>Mark2;0}

{L3Undo2}
{L3Steps2}
{SEI <<tutmac.wk3>>Mark3;0}

{L3Undo3}
{L3Steps3}
{SEI <<tutmac.wk3>>Mark4;0}

{L3Undo4}
{L3Steps4}
{SEI <<tutmac.wk3>>Mark5;0}

{WENN <<tutmac.wk3>>Mark5}{STOP}
{WENN <<tutmac.wk3>>Mark4}{L3Steps5}{STOP}
{WENN <<tutmac.wk3>>Mark3}{L3Steps4}{L3Steps5}{STOP}
{WENN <<tutmac.wk3>>Mark2}{L3Steps3}{L3Steps4}{L3Steps5}{STOP}
{WENN <<tutmac.wk3>>Mark1}{L3Steps2}{L3Steps3}{L3Steps4}{L3Steps5}{STOP}
{L3Steps1}{L3Steps2}{L3Steps3}{L3Steps4}{L3Steps5}



L4Steps1 {BEARBEITEN-GEHEZU A21} L4Undo1
{BEARBEITEN-GEHEZU A17}
{AUSWŽHLEN A1..D5}
{DIAGRAMM-NEU A18..E33}
{SEI <<tutmac.wk3>>Mark1;1}

L4Steps2 {DIAGRAMM-TYP "3D Balken"} L4Undo2
{SEI <<tutmac.wk3>>Mark2;1}

L4Steps3 {DIAGRAMM-BEREICH "b";B14..D14} L4Undo3
{SEI <<tutmac.wk3>>Mark3;1}

L4Steps4 {DIAGRAMM-LEGENDE "b";;;A14} L4Undo4
{SEI <<tutmac.wk3>>Mark4;1}

L4Steps5 {BEARBEITEN-GEHEZU "Diagr 1";"B Bereich";"Diagramm"}L4Undo5
{STIL-INNERES 168}
{SEI <<tutmac.wk3>>Mark5;1}

L4Steps6 {BEARBEITEN-GEHEZU "Diagr 1";"Titelzeile 1";"Diagramm"}L4Undo6
{STIL-SCHRIFT "Times";;"ROMAN"}
{SEI <<tutmac.wk3>>Mark6;1}

L4Undo7



{AUSWŽHLEN "Diagr 1";;"Diagramm"}
{BEARB-L™SCHEN}
{BEARBEITEN-GEHEZU A1}
{SEI <<tutmac.wk3>>Mark1;0}

{AUSWŽHLEN "Diagr 1";;"Diagramm"}
{DIAGRAMM-TYP "Balken"}
{SEI <<tutmac.wk3>>Mark2;0}

{AUSWŽHLEN "Diagr 1";"B Bereich";"Diagramm"}
{BEARB-L™SCHEN}
{SEI <<tutmac.wk3>>Mark3;0}

{DIAGRAMM-LEGENDE "b";"Daten B"}
{SEI <<tutmac.wk3>>Mark4;0}

{BEARBEITEN-GEHEZU "Diagr 1";"B Bereich";"Diagramm"}
{STIL-INNERES 68}
{SEI <<tutmac.wk3>>Mark5;0}

{BEARBEITEN-GEHEZU "Diagr 1";"Titelzeile 1";"Diagramm"}
{STIL-SCHRIFT "Arial";;"SWISS"}
{SEI <<tutmac.wk3>>Mark6;0}

{WENN <<tutmac.wk3>>Mark6}{STOP}
{WENN <<tutmac.wk3>>Mark5}{L4Steps6}{STOP}
{WENN <<tutmac.wk3>>Mark4}{L4Steps5}{L4Steps6}{STOP}
{WENN <<tutmac.wk3>>Mark3}{L4Steps4}{L4Steps5}{L4Steps6}{STOP}
{WENN <<tutmac.wk3>>Mark2}{L4Steps3}{L4Steps4}{L4Steps5}{L4Steps6}{STOP}
{WENN <<tutmac.wk3>>Mark1}{L4Steps2}{L4Steps3}{L4Steps4}{L4Steps5}{L4Steps6}{STOP}
{L4Steps1}{L4Steps2}{L4Steps3}{L4Steps4}{L4Steps5}{L4Steps6}{STOP}



L5Steps1 {VERWENDE "DRUCKEN-BEREICH";A1..E33} L5Undo1 {DRUCKEN-ZURšCKSETZEN}

L5Steps2 {VERWENDE "DRUCKEN-GR™SSE-MANUELL";150} L5Undo2 {L5Undo1}
{L5Steps1}

L5Steps3 {VERWENDE "DRUCKEN-KOPFZEILE-LINKS-TEXT";"G„rtnerei Mller"}L5Undo3 {L5Undo2}
{VERWENDE "DRUCKEN-KOPFZEILE-ZENTRIERT-TEXT";"Abrechnung 1. Quartal"}{L5Steps2}
{VERWENDE "DRUCKEN-KOPFZEILE-RECHTS-TEXT";"Seite #"}

L5Steps4 {DRUCKEN} L5Undo4 {L5Steps1}
{L5Steps2}
{L5Steps3}



{DRUCKEN-ZURšCKSETZEN}



L6Steps1 {ERSTEZELLE} L6Undo1
{EINFšGEN-ARBEITSBLŽTTER "HINTER";1}
{SEI <<tutmac.wk3>>Mark1;1}

L6Steps2 {BLATT-NAME "Budget Q2"} L6Undo2
{VORHERBLATT}
{BLATT-NAME "Aktuell Q1"}
{SEI <<tutmac.wk3>>Mark2;1}

L6Steps3 {ERSTEZELLE} L6Undo3
{AUSWŽHLEN-ALLE}
{BEARB-KOPIEREN}
{NŽCHSTBLATT}
{BEARB-EINFšGEN}
{SEI <<tutmac.wk3>>Mark3;1}

L6Steps4 {ERSTEZELLE} L6Undo4
{VERWENDE "ARBEITSBLATT-GRUPPE-BLŽTTER";"JA"}
{NŽCHSTBLATT}
{SEI <<tutmac.wk3>>Mark4;1}

L6Steps5 {HOME} L6Undo5
Budget 2. Quartal~
{SEI <<tutmac.wk3>>Mark5;1}

L6Steps6 {AUSWŽHLEN-BEREICH B:B3..B:D3}L6Undo6
{BEARBEITEN-L™SCHEN-INHALTE}
Apr~
{FšLLEN-NACH-MUSTER}
{SEI <<tutmac.wk3>>Mark6;1}

L6Steps7 {AUSWŽHLEN-BEREICH B:B5} L6Undo7
+a:d5*1,1~
{SEI <<tutmac.wk3>>Mark7;1}

L6Undo8



{ERSTEZELLE}
{L™SCHEN-ARBEITSBLŽTTER B:A1}
{SEI <<tutmac.wk3>>Mark1;0}

{L6Undo1}
{BLATT-NAME-L™SCHEN "Aktuell Q1"}
{L6Steps1}
{SEI <<tutmac.wk3>>Mark2;0}

{L6Undo2}
{ERSTEZELLE}{NŽCHSTBLATT}
{AUSWŽHLEN-ALLE}
{BEARB-L™SCHEN ;"BEIDES"}
{L6Steps2}
{SEI <<tutmac.wk3>>Mark3;0}

{VERWENDE "ARBEITSBLATT-GRUPPE-BLŽTTER";"NEIN"}
{L6Undo3}
{L6Steps3}
{SEI <<tutmac.wk3>>Mark4;0}

{L6Undo4}
{L6Steps4}
{SEI <<tutmac.wk3>>Mark5;0}

{L6Undo5}
{L6Steps5}
{SEI <<tutmac.wk3>>Mark6;0}

{L6Undo6}
{L6Steps6}
{SEI <<tutmac.wk3>>Mark7;0}

{WENN <<tutmac.wk3>>Mark7}{STOP}
{WENN <<tutmac.wk3>>Mark6}{L6Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark5}{L6Steps6}{L6Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}



{WENN <<tutmac.wk3>>Mark3}{L6Steps4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark2}{L6Steps3}{L6Steps4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}
{WENN <<tutmac.wk3>>Mark1}{L6Steps2}{L6Steps3}{L6Steps4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}
{L6Steps1){L6Steps2}{L6Steps3}{L6Steps4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}



{WENN <<tutmac.wk3>>Mark1}{L6Steps2}{L6Steps3}{L6Steps4}{L6Steps5}{L6Steps6}{L6Steps7}{STOP}



L7Steps1

L7Steps2

L7Steps3

L7Steps4

L7Steps5

L7Steps6

L7Steps7

L7Steps8



{ABFRAGE-NEU Verkauf;B:B2;"Datum>=01-M„r-93"}
{SEI <<tutmac.wk3>>Mark1;1}

{BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-KRITERIEN "Datum>=01-M„r-93#und#Kunde=""Florissima"""}
{SEI <<tutmac.wk3>>Mark5;1}

{BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-KRITERIEN "Datum>=01-M„r-93#und#(Kunde=""Florissima""#oder#Kunde=""Blumen Schmidt"")"}
{SEI <<tutmac.wk3>>Mark6;1}

{BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-WŽHLEN-FELDER "Kunde";"Betrag"}
{SEI <<tutmac.wk3>>Mark7;1}

{BEARBEITEN-GEHEZU "Abfrage1";"Betrag";"Abfrage"}
{ABFRAGE-WERTE-BERECHNEN "zurcksetzen";"Betrag"}
{ABFRAGE-FELD-ALIAS "Betrag";"Verk„ufe Gesamt"}
{SEI <<tutmac.wk3>>Mark8;1}



L7Undo1 {BEIFEHLER L7UNDO2}
{BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{BEARB-L™SCHEN}
{-- SEI <<tutmac.wk3>>Mark1;0}

L7Undo2

L7Undo3

L7Undo4

L7Undo5 {BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-KRITERIEN "Datum>=01-M„r-93"}
{SEI <<tutmac.wk3>>Mark5;0}

L7Undo6 {BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-KRITERIEN "Datum>=01-M„r-93#und#(Kunde=""Florissima""#oder#Kunde=""Blumen Schmidt"")"} {ABFRAGE-KRITERIEN "Datum>=01-M„r-93#und#Kunde=""Florissima"""}

{SEI <<tutmac.wk3>>Mark6;0}

L7Undo7 {BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{ABFRAGE-WŽHLEN-FELDER "Datum";"Rechnung";"F„lligkeit";"Kunde";"Betrag"}
{SEI <<tutmac.wk3>>Mark7;0}

L7Undo8 {BEARBEITEN-GEHEZU "Abfrage1";"Betrag";"Abfrage"}
{ABFRAGE-WERTE-BERECHNEN "zurcksetzen";"Betrag"}
{ABFRAGE-FELD-ALIAS "Betrag";"Betrag"}
{BEARBEITEN-GEHEZU "Abfrage1";;"Abfrage"}
{SEI <<tutmac.wk3>>Mark8;0}

L7Undo9 {WENN <<tutmac.wk3>>Mark8}{STOP}
{WENN <<tutmac.wk3>>Mark7}{L7Steps8}{STOP}



{WENN #nicht#<<tutmac.wk3>>Mark1}{L7Steps1}
{L7Steps7}
{L7Steps8}



L8Steps1 {BEREICH-VERSION? "MANAGER"} L8Undo1
{SEI <<tutmac.wk3>>Mark1;1}

L8Steps2 L8Undo2

L8Steps3 L8Undo3

L8Steps4 {BEARBEITEN-GEHEZU B5} L8Undo4
{SEI <<tutmac.wk3>>Mark4;1}

L8Steps5 {BEARBEITEN-GEHEZU Nettoumsatz} L8Undo5
{SEI <<tutmac.wk3>>Mark5;1}

L8Steps6 {VERSION-ANZEIGEN Nettoumsatz;"Schnelles Wachstum"} L8Undo6
{SEI <<tutmac.wk3>>Mark6;1}

L8Steps7 L8Undo7

L8Steps8 {VERSION-ANZEIGEN Geh„lter;"Neueinstellungen"} L8Undo8
{SEI <<tutmac.wk3>>Mark8;1}

L8Steps9 {BEARBEITEN-GEHEZU B12..D12} L8Undo9
{BEREICHSNAME-ERSTELLEN Einkauf}
{VERSION-ERSTELLEN Einkauf;"Aktuell Q1";;;"Betr„ge 1. Quartal"}
{SEI <<tutmac.wk3>>Mark9;1}

L8Steps10 {BEARBEITEN-GEHEZU B12..D12} L8Undo10
{BEARB-KOPIEREN B5..D5}
{BEARB-EINFšGEN}
{VERSION-ERSTELLEN Einkauf;"Schnelles Wachstum";;;"Geht von 10%igem monatlichen Anstieg fr den Einkauf aus"}
{SEI <<tutmac.wk3>>Mark10;1}

L8Steps11 {-- BEREICH-VERSION? "AUS"} L8Undo11
{BEREICH-VERSION? "INDEX"}
{SEI <<tutmac.wk3>>Mark11;1}

L8Steps12 L8Undo12

L8Steps13 L8Undo13



L8Steps14 {SZENARIO-ANZEIGEN "Erstes Quartal"} L8Undo14
{SEI <<tutmac.wk3>>Mark14;1}

L8Undo15



{BEREICH-VERSION? "AUS"}
{SEI <<tutmac.wk3>>Mark1;0}

{BEARBEITEN-GEHEZU A1}
{SEI <<tutmac.wk3>>Mark4;0}

{BEARBEITEN-GEHEZU B5}
{SEI <<tutmac.wk3>>Mark5;0}

{VERSION-ANZEIGEN Nettoumsatz;"Aktuell Q1"}
{SEI <<tutmac.wk3>>Mark6;0}

{VERSION-ANZEIGEN Geh„lter;"Aktuell Q1"}
{SEI <<tutmac.wk3>>Mark8;0}

{VERSION-L™SCHEN Einkauf;"Aktuell Q1"}
{BEREICHSNAME-L™SCHEN Einkauf}
{SEI <<tutmac.wk3>>Mark9;0}

{VERSION-L™SCHEN Einkauf;"Schnelles Wachstum"}
{SEI <<tutmac.wk3>>Mark10;0}

{VERSION-ERSTELLEN Einkauf;"Schnelles Wachstum";;;"Geht von 10%igem monatlichen Anstieg fr den Einkauf aus"}

{-- BEREICH-VERSION? "AUS"}
{BEREICH-VERSION? "MANAGER"}
{SEI <<tutmac.wk3>>Mark11;0}



{VERSION-ANZEIGEN Nettoumsatz;"Schnelles Wachstum"}
{VERSION-ANZEIGEN Geh„lter;"Neueinstellungen"}
{VERSION-ANZEIGEN Einkauf;"Schnelles Wachstum"}
{SEI <<tutmac.wk3>>Mark14;0}

{WENN <<tutmac.wk3>>Mark14}{STOP}
{WENN <<tutmac.wk3>>Mark11}{L8Steps14}{STOP}
{WENN <<tutmac.wk3>>Mark10}{L8Steps11}{L8Steps14}{STOP}
{WENN <<tutmac.wk3>>Mark9}{L8Steps10}{L8Steps11}{L8Steps14}{STOP}
{L8Steps9}{L8Steps10}{L8Steps11}{L8Steps14}{STOP}



wpoff {FENSTERAUS}
{BEDIENFELDAUS}

wpon {FENSTEREIN}
{BEDIENFELDEIN}

Mark1
Mark2
Mark3
Mark4
Mark5
Mark6
Mark7
Mark8
Mark9
Mark10
Mark11
Mark12
Mark13
Mark14
Mark15
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